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INTRODUCTION 

 

 The College Board has posted 280 math problems consistent with the new version of the 

SAT, which was launched earlier last year.  These problems show up on four practice exams for 

the SAT and one practice exam for the PSAT.  Certain categories of math questions come up 

repeatedly in the practice exams and are likely to challenge even the best of math students.  I call 

these categories “problem children.”  This article will address the category dealing with systems 

of linear equations. 

 

 The College Board presents problems involving systems of linear equations in seven 

formats.  Here is one example of each format: 

 

1.  Solve the following system: 

 

𝑥 + 𝑦 = 1 

5𝑥 − 𝑦 = 23 

 

 

 

 

2. 

2𝑥 − 3𝑦 = −14 

3𝑥 − 2𝑦 = −6 

 

If (𝑥, 𝑦) is a solution to the system of equations above, what is the value of 𝑥 − 𝑦 ? 

 

A)  −20 

B)  −8 

C)  −4 

D)  8 

 

  



3. 

3𝑥 + 𝑏 = 5𝑥 − 7 

3𝑦 + 𝑐 = 5𝑦 − 7 

 

In the equations above, b and c are constants.  If b is c minus 
1

2
, which of the following is true? 

 

A)  x is y minus 
1

4
. 

B)  x is y minus 
1

2
. 

C)  x is y minus 1. 

D)  x is y plus 
1

2
. 

 

 

 

 

4. 

𝑎𝑥 + 𝑏𝑦 = 12 

2𝑥 + 8𝑦 = 60 
 

In the system of equations above, a and b are constants.  If the system has infinitely many 

solutions, what is the value of  
𝑎

𝑏
 ? 

 

 

 

 

5. 

𝑘𝑥 − 3𝑦 = 4 

4𝑥 − 5𝑦 = 7 

 

In the system of equations above, k is a constant and x and y are variables.  For what value of k 

will the system of equations have no solution? 
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